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1. Consider the following statements regarding High Mobility Artillery Rocket
System (HIMARS) artillery rockets:

Artillery rockets are propelled by a liquid-fuel motor and have the capability to carry a1.
variety of warheads.
HIMARS truck carries only one pod of munitions and is manufactured by the United2.
States.
HIMARS and Guided Multiple Launch Rocket System (GMLRS) used together from a3.
mobile platform amounts to firepower that is similar to an airstrike.

Which of the above statement(s) is/are correct?

 1 and 2 only
 2 and 3 only
 1 and 3 only
 1, 2 and 3

2. Identify the statement associated with the term ‘Ad-valorem basis’:

 A State’s sales tax is based on the sum of the Centre’s excise duty, the base price of petrol
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and the dealer’s commission.
 Tax levied by the government on tax with specific purpose.
 Tax that is added on to the cost of a good or service, beyond the initially quoted price.
  It is the tax imposed on the basis of the monetary value of the taxed item.

3. Consider the following statements:

The Union list of the Constitution of India empowers the Central government to enact1.
laws for sanctioning cinematograph films for exhibition.
Only the Government of India, under the Union list, can enact laws for wireless,2.
broadcasting, and other forms of communication.

Which of the above statement(s) is/are incorrect?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2

4. Consider the following statements regarding the Pacific Island Countries (PICs):

They are largely located in the temperate zone of the Pacific Ocean between Asia,1.
Australia, and the Americas.
The islands are very small in land area and are spread wide across the vast equatorial2.
swathe of the Pacific Ocean.

Which of the above statement(s) is/are correct?

 1 only
  2 only
  Both 1 and 2
 Neither 1 nor 2

5. Consider the following statements:

India is home to the world’s first liquid-mirror telescope, which is located in the Union1.
Territory of Ladakh.
The liquid used in the telescope is mercury due to its reflective property.2.

Which of the above statement(s) is/are correct?

 1 only
 1 only



 Both 1 and 2
 Neither 1 nor 2
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